GreatHearts

_ _ Irving
Physics Remote Learning Packet

Please submit scans of written work in Google Classroom at the end of the week.

Week 8: May 18-22, 2020

Course: 11 Physics
Teacher: Miss Weisse natalie.weisse@greatheartsirving.org

Resource: Miss Weisse’s Own Physics Textbook — new pages found at the end of this packet

Weekly Plan:

Monday, May 11

[]1 Read Unit 8 Part 8 - Power of Miss Weisse’s Own Physics Textbook

] Complete Worksheet 5 #1-3

[ ] Email Miss Weisse with Questions and to Ask for Solutions

[_ISpend 10 Minutes Reviewing All of Unit 8 — Energy for an Assessment on Wednesday

Tuesday, May 12

[ Review Unit 8 Part 8 - Power of Miss Weisse’s Own Physics Textbook

] Complete Worksheet 5 #4-5

[ ] Email Miss Weisse with Questions and to Ask for Solutions

[ISpend 10 Minutes Reviewing All of Unit 8 — Energy for an Assessment on Wednesday

Wednesday, May 13
[ ] Complete Unit 8 — Energy Assessment on Google Classroom

Thursday, May 14
[] Complete Review Diagram
[ ] Email Miss Weisse with Questions

Friday, May 15
[ ] Attend Office Hours at 9:30 AM!
[] Turn in your assignments on Google Classroom by the end of the day Sunday May 17.

Please turn in all items in green!

Statement of Academic Honesty
I affirm that the work completed from the packet I affirm that, to the best of my knowledge, my
is mine and that I completed it independently. child completed this work independently

Student Signature Parent Signature
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Monday, May 18

Read Unit 8 Part 8 - Power of Miss Weisse’s Own Physics Textbook

Complete Worksheet 5 #1-3

Email Miss Weisse with Questions and to Ask for Solutions

Spend 10 Minutes Reviewing All of Unit 8§ — Energy for an Assessment on Wednesday
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Energy Storage and Transfer Model Worksheet 5 #1-3:

Energy Transfer and Power

1. Jill pulls on a rope to lift a 12 kg pail out of a well, while the clumsy Jack watches. For a 10.0 meter
segment of the lift, she lifts the bucket straight up at constant speed.
a. How much power is required to complete this task in 5.0 seconds?

b. Complete the energy bar graph as part of your solution.

System/Flow
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Conservation of Energy Equation:

2. Hulky and Bulky are two workers being considered for a job at the UPS loading dock. Hulky
boasts that he can lift a 100 kg box 2.0 meters vertically, in 3.0 seconds. Bulky counters with his
claim of lifting a 200 kg box 5.0 meters vertically, in 20 seconds. Which worker is more
powerful?

3. The trains on the Boss roller coaster are raised from 10.0 m above ground at the loading platform
to a height of 60.0 m at the top of the first hill in 45 s. Assume that the train (including passengers)
has a mass of 2500 kg.

a. Ignoring frictional losses, how powerful should the motor be to accomplish this task?

b. Complete the energy bar graphs below.
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Conservation of Energy Equation:






Tuesday, May 19
Review Unit 8 Part 8 - Power of Miss Weisse’s Own Physics Textbook
Complete Worksheet 5 #4-5

Email Miss Weisse with Questions and to Ask for Solutions

2K 2"

pend 10 Minutes Reviewing All of Unit 8§ — Energy for an Assessment on Wednesday

Energy Storage and Transfer Model Worksheet 5 #4-5:

Energy Transfer and Power
1. An aerodynamic 1,000 kg car takes about 270 newtons of force to maintain a speed of 25 m/s.
a. How much horsepower (hp) is required from the engine to maintain this speed? (1 hp = 746 W)
Hint! Review page 81 carefully!

b. How much horsepower is required for the same car to accelerate from 0-25 m/s in 6.0 seconds?

2. Your electric utility company sends you a monthly bill informing you of the number of kilowatt-hours of
energy you have used that month.
a. What is a kilowatt-hour (kilowatt x hour, or kWh)? Determine how many Joules equal one
kilowatt-hour.

b. A refrigerator-freezer uses energy at a rate of 500. watts when you hear the compressor running. If
the fridge runs for 200. hours per month, how many kilowatt-hours of energy does the refrigerator
use each month?

c. Inthe Dallas area, electricity rates range from 8.0 cents per kilowatt-hour (winter) tol1.5 cents per
kWh (summer). How much does the energy cost each month to run the refrigerator?

Wednesday, May 20
=> Complete Unit 8§ — Energy Assessment on Google Classroom
@ This assessment is open notes. Use Miss Weisse’s Own Textbook, use assignments, use your brain!
Just don’t use another person. This must be your own work.

Thursday, May 21

=> Complete Review Diagram found on the next page
€ We have learned two descriptive measurements of motion and two causal measurements of motion
since September. Identify these four measurements (don’t include momentum). Then, in the four
boxes, show how we pictorially represent the measurement, how we use words to explain the
measurement, what changes in the measurement, and the equation and units of the measurement.
€ If you do not have a printed copy, recreate the diagram on your own paper.
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of  emergy and power.

1. A student eats a tasty school lunch containing 700. Calories. (One food Calorie = 4186 joules.) Due
to basal metabolism, the student radiates about 100. joules per second into the environment.
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5000. newtons to the top of a 10-meter tall apartment building, how many pianos could be
lifted with the energy from lunch? (Ignore the energy radiated by the student.) Complete the
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